Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

If'p & g are statements, then thew disjunchon is

Answer | Please select your correct option )

perq
~

pandqg

pandqgandp

Mone of these

Yede By: Weldgelr Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The staternent * It 15 not raming if and only f'roads are dry” 15 logically equivalent to

~

Answer | Please select your correct option )

If'roads are dry then it 15 not raming.
P

Mone of these

Roads are dry if and only f it is not ramning

If'it is not raining then roads are dry

Yede By: Weldgelr Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

An argument 15 f'the conclusion 1s true when all the premmses are true

~

Answer | Please select your correct option )

Invalid
I

Falze

Walid

Mone of these

Yede By: Weldgelr Siddhu




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Which one of the followmng argument 15 walid?

~

Answer | Please select your correct option )

~

Al lives m Palastan, Lahore 15 a city of Palastan therefore Al lives m Lahore.

Al cows are black, Thon iz black therefore Then is a cow.

Cats are mammals, dogs are mammals therefore cats are dogs

COnly birds can fly, pigeon i3 a bird therefore pigeon can fly.

Yede By: Weldgelr Siddhu




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Is the given statemnent true?

#={#

~

Answer | Please select your correct option )

Tes

e




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

ALissociative law of mtersection for three sets 1s

~

Answer | Please select your correct option )

Aoy ={Audyud
P

Ar(B Nl =(AnEnd

AUB A =AU N (AU E)

Mone of these

Yede By: Weldgelr Siddhu




Question No : 8 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

I A={abc} isasetand R ={{a,c), (b.E), (r,a)} is arelation on A then E 1z

Answer | Please select your correct option )

Transitve
P

Reflezive

Symmetric

Transitive and Feflexive

Yede By: Weldgelr Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Inverse of relation can be obtamned by

~

Answer | Please select your correct option )

changing signs of elements m order parrs.
L
changing position of elements i order pairs.
C
talring multiplicative inverse of elements in order pairs.
P
Weade By: WBager Siddha




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If fix)=2x+1 then 7 (x) =

~

Answer | Please select your correct option )

x-1
o

o|3ED

242

O ox+l

Yede By: Weldgelr Siddhu




Question No : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

If A is a set of all integers and R = {{x,y) € Aiff xv 2 1} iz a relation on A then the relation . is

Answer | Please select your correct option )

Transitve
P

Symmetric

Reflezive

All the given options are true

Yede By: Weldgelr Siddhu




Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

The part of definihion which can be expressed i terms of smaller versions of itself1s called

Answer | Please select your correct option )

Base
P

Restriction

Recursion

Cenclusion

Yede By: Weldgelr Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Letfis defined recursively by F{0) =35, fin+1) =4 F(a) + 2 then f{li=

~

Answer | Please select your correct option )

B
P

21

22

Yede By: Weldgelr Siddhu




Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

For real numbers a and b these @ + 4, b -, axb and a +b are

Answer | Please select your correct option )

(Geometnc expressions

Arithmetic expressions

Harmonic expressions

Weade By: Wagelr Siddha




Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The tower of Hanet 15 a puzze consisting of

~

Answer | Please select your correct option )

2 people

3people

4 people

Weade By: Wagelr Siddha




Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Let a and b be mtegers. Suppose a finction () 15 defined recursrvely as follows:

2 ifa<d

Llab) ={Q(a +hE-T)+h fb<a

Then (5,2) =

~

Answer | Please select your correct option )

PG =45
o

PE.=L0+2

PO =e0.2)+4

Yede By: Weldgelr Siddhu




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The same element can never appear --------- m a set

~

Answer | Please select your correct option )

twice

OnCce

thrice

Weade By: Wagelr Siddha




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

T (AUB)= A then

~

Answer | Please select your correct option )

(ArB) =B

(ArB)=4

(ArB) =5

Weade By: Wagelr Siddha




Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A={1,2,3,4,5} is a set of first five -------- mumbers

~

Answer | Please select your correct option )

True
P

natural

EVEN

odd

Yede By: Weldgelr Siddhu




Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

If'p = A Pentum 4 computer,
q = attached with ups.
Then “no Pentum 4 computer is attached with ups" 1s denoted by

Answer | Please select your correct option )

D ip~g)
P
D Pvg
-~
L Pag
-
Mone of these
(- -
Yede By: Weldgelr Siddhu




Question No : 21 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Show that #(x) == +1 s a one to one function

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 22 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Let f(x) =2x—1and g(x) = 2 +1 be the real valued functions then find g o f{x) .

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

~

ITa= {1,2,3,4} 15 a set and B 15 a relation on 4 as R ={(1,1), (2,2),02,3),03,2),(3,3,.4, 2),(4,4)} Iz R (&) transitve () anbi-symmetnic? Jushfy your answer

Answer | Please click here to Add Answer )

FHESR[ I ES & [E DL |@|100%_||
|Nurmal I | 2 =Zinz o H__

, Yede By: Wadgelr Siddhu




Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

~

Let F(x)=2x+1and g{x) = x* -1 be the real valued function then find the expression f o f(x) =

Answer | Please click here to Add Answer )

FHESR[ I ES & [E DL |@|100%_||
|Nurmal I | 2 =Zinz o H__

, Yede By: Wadgelr Siddhu




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min)  [=]

-

Consider the relation R = onasetA ={1, 2 3} . Deterrmne whether or not the given relation on 4 15
(1) Beflexive

(1) Transitive

(1) Anti-symmetric

(Justify your answer)

Answer | Please click here to Add Answer )

O E S| e e & e o=
Jtiarmal I | =2 =ie g g‘

, Yede By: Wadgelr Siddhu




Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min)  [=]

Find the sum of first n terms of an anthmetic senes.

-

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu






